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PSD 01 - Background Cosmics - RejectedWaveformAnalysis (page 1)

abs_time =318.1s : energy = 322 keV.

ratio = 0.587 : protonChi = 28.7

acqNum =12 : segNum =692 : chan = 1: disc_time = -21.4 ns : abs_time = 28.8s : energy = 974 keV : ratio = 0.331: protonChi = 17.1 acqNum = 138 : segNum = 405 : chan = 2 : disc_time =-19.6 ns
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PSD 01 - Background Cosmics - WaveformAnalysis (page 1)

acqNum =0 segNum

2: chan =2: disc_time

18.6ns:

abs_time =005 :

energy = 443 keV

ratio =

.178 : protonChi = NIA

acqNum =0 : segNum =3 : chan = 1 : disc_time

22.5ns : abs_time =0.0's : energy = 151 keV : ratio

0.339: protonChi = N/A
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PF 12 - 2.45 MeV Neutrons - AcceptedWaveformAnalysis (page 1)
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